## **BOOK/CHAPTER/ARTICLE PUBLSIHED 2022-23**

Sr. No.	Name of Teacher	Title of Book/Chapter published	e of the Paper	Title of the proceedings of the conference	Year of publication	ISSN/ISBN Number	View Book/Paper
1	Dr. Dhere Suresh Ramchandra	The Contribution And Achievements of Men in Various Spheres at national and International Levels	Mahatma Phule: Views On Industries (Agriculture Related)	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
2	Prof. Mohan Baburao Chavan	The Contribution And Achievements of Men in Various Spheres at national and International Levels	सर्वसामान्य माणसाचे वैचारिक नेतृत्व डॉक्टर एन डी पाटील	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
3	Dr. Dashrath Kisan Rasal	The Contribution And Achievements of Men in Various Spheres at national and International Levels	क्रांतिवीर उमाजी राजे नाईक यांचे भारतीय स्वतंत्र चळवळीतील योगदान एक अभ्यास	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
4	Dr. Anand Dyaneshwar Shinde	The Contribution And Achievements of Men in Various Spheres at national and International Levels	युगपुरुष महात्मा गांधीजींच्या शैक्षणिक विचारांचा भारतीय शिक्षणावरील झालेला परिणाम	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
5	Dr. Nagorao Sambhaji Bhurke	The Contribution And Achievements of Men in Various Spheres at national and International Levels	राजश्री शाहू महाराजांचे समाज शिक्षण व आरक्षण विषयक कार्य	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	View

6	Dr. Pradip Mahadev Jagtap	The Contribution And Achievements of Men in Various Spheres at national and International Levels	शेतकऱ्यांचा जाणता राजा मा. शरद पवार	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
7	Dr. Kamble Anil Pandurang	The Contribution And Achievements of Men in Various Spheres at national and International Levels	आधुनिक भारताच्या विकासात डॉक्टर बाबासाहेब आंबेडकर यांचे योगदान	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
8	Prof. Nilofar A. Gani Tamboli	The Contribution And Achievements of Men in Various Spheres at national and International Levels	The Maker of Modern India: Dr. Babasaheb Ambedkar	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
9	Prof. Kumbhar Minakshi Baban	The Contribution And Achievements of Men in Various Spheres at national and International Levels	S.R. Ranganathan - The Father of Library Science of India	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
10	Prof. Banne Rekha Ashok	The Contribution And Achievements of Men in Various Spheres at national and International Levels	Rabindranath Tagore	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
11	Prof. Matre Hemlata Babu	The Contribution And Achievements of Men in Various Spheres at national and International Levels	An Iconic Indian Industrialist Personality - Ratan Tata	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>

12	Prof. Indolkar Chandrabhaga Suryakant	The Contribution And Achievements of Men in Various Spheres at national and International Levels	A.P.J. Abdul Kalam	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
13	Prof. Walekar Anjali Dashrath	The Contribution And Achievements of Men in Various Spheres at national and International Levels	Man Who Knew Infinity - Shrinivasa Ramanujan	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
14	Prof. Sapatnekar Vrushali Vilas	The Contribution And Achievements of Men in Various Spheres at national and International Levels	George Mendel	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
15	Prof. Momin Tabassum Rasul	The Contribution And Achievements of Men in Various Spheres at national and International Levels	आधुनिक भूगोलाचे आधारस्तंभ- अलेक्झांडर हम्बॉल्ट	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
16	Prof. Bhaskar Neeta Rushikesh	The Contribution And Achievements of Men in Various Spheres at national and International Levels	British Scientist - R.A.Fisher	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
17	Prof. Kamble Sukeshini Machhindra	The Contribution And Achievements of Men in Various Spheres at national and International Levels	Pierce Brown as Dystopian Writer	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>

18	Prof. Honmane Vanita Vijay	The Contribution And Achievements of Men in Various Spheres at national and International Levels	Contribution and Achievement of Peter Drucker in Modern Management	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	View
19	Dr. Cholle Indumati Shivlingappa	The Contribution And Achievements of Men in Various Spheres at national and International Levels	बाबा आमटे यांचे समाजसेवेतील योगदान एक अभ्यास	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
20	Prof. Nitesh Chandu Gangve	The Contribution And Achievements of Men in Various Spheres at national and International Levels	भगवानदास मोरवाल के कथा साहित्य मे राजनीतिक चित्रण	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	<u>View</u>
21	Prof. Vrushali Shrenik Shah	The Contribution And Achievements of Men in Various Spheres at national and International Levels	महात्मा गांधीजींचे कार्य	The Contribution And Achievements of Men in Various Spheres at national and International Levels	2022- 2023	978-93-91033-51- 4	View
22	Dr. Vijay Arjun Revaje	The Contribution And Achievements of Men in Various Spheres at national and International Levels	तेजस्वी सेनानी नेताजी सुभाष चंद्र बोस	23th International interdisciplinary Conference	2022- 2023	978-93-91033-51- 4	View
23	Dr. Bhong Ashok Bhimrao	Multi Deciplinary Approach- Collection of Research Papers	महाराष्ट्रातील सहकारी साखर कारखान्यांच्या आर्थिक विकासातील योगदान एक चिकित्सक अभ्यास	N/A	2022- 2023	978-1-304-07991- 6	View
24	Dr Bhurke Nagorao Sambhaji	Multi Deciplinary Approach- Collection of Research Papers	Gender Inequality and Women in India	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>

25	Dr. Cholle Indumati Shivlingappa	Multi Deciplinary Approach- Collection of Research Papers	Stress Management: A Comprehensive Guide	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
26	Harshada Shashikant Gaikwad	Multi Deciplinary Approach- Collection of Research Papers	Synthesis, Characterization, and Biological Activity of Ferrous Complexes	N/A	2022- 2023	978-1-304-07991- 6	View
27	Mrs. Kamble Sukeshani Machhindra	Multi Deciplinary Approach- Collection of Research Papers	Translation in 21 <sup>st</sup> Century: The Global Context	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
28	Mrs. Kodam Aruna Goverdhan	Multi Deciplinary Approach- Collection of Research Papers	Analyzing The Transition From Traditional Payment Methods To Digital And Cryptocurrency Systems	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
29	Dr.Kori Mahadev Lakkappa	Multi Deciplinary Approach- Collection of Research Papers	Dr Gururaj Karajagi: An Academician and A Flobal Mentor	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
30	Miss. Mete Aishwarya Sanjay	Multi Deciplinary Approach- Collection of Research Papers	Contribution and achievements of men in various spheres at "National and Internationals levels" - Edward Jenner.	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
31	Mr. Amol Saudagar More	Multi Deciplinary Approach- Collection of Research Papers	फॉन्स उपन्यास में चित्रित किसान जीवन की त्रासदी	N/A	2022- 2023	978-1-304-07991- 6	View
32	Mr. Devrao Kashinath Munde	Multi Deciplinary Approach- Collection of Research Papers	अमेरिका के प्रवासी महिला साहित्यक	N/A	2022- 2023	978-1-304-07991- 6	View
33	Mrs. Neeta Rushikesh Bhaskar	Multi Deciplinary Approach- Collection of Research Papers	Statistical Analysis of the Relationship Between Exercise and Mental Health	N/A	2022- 2023	978-1-304-07991- 6	View

34	Dr. Vijay Arjun Revaje	Multi Deciplinary Approach- Collection of Research Papers	डॉक्टर बाबासाहेब आंबेडकरांचे लोकशाही समाजवाद आणि आर्थिक विषमते बाबीचे विचार	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
35	Mrs. Sapatnekar Vrushali	Multi Deciplinary Approach- Collection of Research Papers	Cell Biology	N/A	2022- 2023	978-1-304-07991- 6	View
36	Mr. Jadhav Bhaktaraj Ghalappa	Multi Deciplinary Approach- Collection of Research Papers	Cross Training for fitness	N/A	2022- 2023	978-1-304-07991- 6	View
37	Mrs. Khatke Seema Dattatraya	Multi Deciplinary Approach- Collection of Research Papers	Plant Anatomy	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
38	Prof. Nitesh Chandu Gangve	Multi Deciplinary Approach- Collection of Research Papers	चंद्रकांत देवतळे की कविता मे सामाजिक यथार्थ	N/A	2022- 2023	978-1-304-07991- 6	<u>View</u>
39	Prof. Matre Hemlata Babu	Multi Deciplinary Approach- Collection of Research Papers	सुशिक्षित बेरोजगारीची समस्या	N/A	2022- 2023	978-1-304-07991- 6	View
40	Mr. Santosh Shivaji Markwad	Interdisciplinary Insights a Collection of Research Papers	नाथ संप्रदायाचा ऐतिहासिक आढावा	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
41	Dr. Bhong Ashok Bhimrao	Interdisciplinary Insights a Collection of Research Papers	भारतातील सहकारी शिक्षण आणि प्रशिक्षणाचे महत्त्व व समाजाचे चिकित्सक अवलोकन	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
42	Prof. Mohan Baburao Chavan	Interdisciplinary Insights a Collection of Research Papers	नागराज मंजुळे यांचे चित्रपटातील समाजचित्र	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>

43	Dr. Anand Dyaneshwar Shinde	Interdisciplinary Insights a Collection of Research Papers	बाल शिक्षण तज्ञ ताराबाई मोडक यांचे भारतीय शिक्षणातील योगदान	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
44	Dr. Dhere Suresh Ramchandra	Interdisciplinary Insights a Collection of Research Papers	A Study of International Accounting Standard and Indian Accounting Standard	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
45	Harshada Shashikant Gaikwad	Interdisciplinary Insights a Collection of Research Papers	Synthesis, Characterization, and Biological Activity of Copper(II) Complexes	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
46	0 1	Interdisciplinary Insights a Collection of Research Papers	Indian Democracy And Empowerment Of Women	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
47	Dr. Kamble Anil Pandurang	Interdisciplinary Insights a Collection of Research Papers	भारतातील सहकारी चळवळीचा मागेवा आणि भविष्यकालीन सहकारी चळवळीचा एक अवलोकन	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
48	Mrs. Kodam Aruna Goverdhan	Interdisciplinary Insights a Collection of Research Papers	Assessing The Effectiveness of Anganwadi Programs in Western Maharashtra with reference To Solapur District	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
49	Dr.Kori Mahadev Lakkappa	Interdisciplinary Insights a Collection of Research Papers	Effective Teaching of English by Overcoming Learning Disabilities: A case Study	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
50	J J	Interdisciplinary Insights a Collection of Research Papers	Microbial Genomics and Bioinformatics	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
51		Interdisciplinary Insights a Collection of Research Papers	इंटरनेट और संपर्क साधनो का विकास	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>
52	Mr. Devrao Kashinath Munde	Interdisciplinary Insights a Collection of Research Papers	केदारनाथ अग्रवाल की काव्य मे प्रकृती बोध	N/A	2022- 2023	978-1-304-07999- 2	<u>View</u>

	Prof. Nilofar	Interdisciplinary Insights a			2022	070 1 204 07000	
	A. Gani	Collection of Research	Cultural Sustainability: Equity and Inclusivity in Agrarian	N/A	2022- 2023	978-1-304-07999-	<u>View</u>
53	Tamboli	Papers	inclusivity in Agrarian		2023	2	
	Dr. Vijay	Interdisciplinary Insights a		27/4	2022-	978-1-304-07999-	***
54	Arjun Raveja	Collection of Research Papers	संयुक्त महाराष्ट्र चळवळीतील शाहिरांचे योगदान	N/A	2023	2	<u>View</u>
34	Mrs. Khatke	Interdisciplinary Insights a					
	Seema	Collection of Research	Medicine Plant	N/A	2022-	978-1-304-07999-	View
55	Dattatraya	Papers			2023	2	
	Prof.	Interdisciplinary Insights a	Goods & Service Tax (GST) and its		2022-	978-1-304-07999-	
	Honmane	Collection of Research	Impact on Indian Economy	N/A	2023	2	<u>View</u>
56	Vanita Vijay	Papers Interdisciplinary Insights a	Recent Development in Micro, Small, and				
	Prof. Vrushali	Collection of Research	Medium Enterprises (MSMEs): A	N/A	2022-	978-1-304-07999-	View
57	Shrenik Shah	Papers	Comprehensive Analysis	1 1/11	2023	2	<u>view</u>
	Prof. Walekar	Interdisciplinary Insights a	Tax Revolution in India: Special		2022-	978-1-304-07999-	
	Anjali	Collection of Research	Reference to GST	N/A	2023	2	<u>View</u>
58		Papers	101010100 00 02 1	NT 1 1 1 1 NT 11		_	
	Prof. Mohan Baburao	Navvodattori Marathi	नव्वदोत्तरी मुस्लिम मराठी नाटके	Navvodattori Marathi Sahittyatil vividh	2022-	978-93-94617-05-	View
59	Chavan	Sahittyatil Vivadh Pravah	गञ्जपातर मुक्सिम मराठा गांच्य	Pravah	2023	2	VIEW
	Dr. Nagorao			110100	2022	070 02 04726 02	
	Sambhaji	Bhatatil Samajik Samasya	भारतातील सामाजिक समस्या	N/A	2022- 2023	978-93-94736-02- 3	<u>View</u>
60	Bhurke				2023	3	
	Prof. Mohan	Crumb at af Ma avula de -	डॉक्टर बाबासाहेब आंबेडकरांचे शिक्षण क्षेत्रातील योगदान	NT A	2022-	987-81-956658-1-	View
61	Baburao Chavan	Symbol of Knowledge	। डाक्टर बाबासाहब आबंडकराच ।राक्षण क्षत्राताल यागदान	NA	2023	5	<u>View</u>
01	Prof. Mohan						
	Baburao	Sathottari Marathi	साठोतरी मुस्लिम मराठी साहित्य	N/A	2022-	978-93-85882-65-	View
62	Chavan	Sahityatil Vividh Pravah			2023	4	
	Dr. Vijay	Sathotari Marathi	मुस्लिम स्त्रियांची मराठी आत्मचरित्र	N/A	2022-	978-93-92584-62-	View
63	Arjun Revaje	Sahityatil Vividh Prawas	3	1 1/1 1	2023	6	<u> </u>

64	Dr. Marakwad Santosh Shivaji	Indegenous Knowledge system and ethics in India	भक्ती आंदोलन संकल्पना उदय और विकास	N/A	2022- 2023	978-93-91777-50- 0	<u>View</u>
65	Prof. Mohan Baburao Chavan	Sustainable Development for Society, Industrial Development, Material, Energy and Environment: Key Issues, Opportunities and Challenges	अकरामाशी ते सनातन सन्माननीय प्रवास	N/A	2022- 2023	978-81-953847-8- 5	<u>View</u>
66	Prof. Mohan Baburao Chavan	Impact of Globalization on Language and Literature	जागतिकीकरण आणि मराठी कादंबरी	Impact of Globalisation on Language and Literature	2022- 2023	987-93-94403-00- 0	<u>View</u>
67	Prof.Aruna Goverdhan Kodam	Sustainable Development for Society, Industrial Development, Material, Energy and Environment: Key Issues, Opportunities and Challenges	A Study on Impact of Internet Advertising on Consumer Demand	Sustainable Development for Society, Industrial Development, Material, Energy and Environment: Key Issues, Opportunities and Challenges	2022- 2023	978-81-953847-8- 5	<u>View</u>